1. oh 294 4 0 7 aABC 9 941 1), 2x 9] 27]2 Fotolet.




2.t 2FdA W 07 aABC ] 94 1, Lx 9] F7)2 Ttolat.







4. & I™NA4 A 0+ 2aABC Y] fJAloltt. H OllA AC] W#
Ao S Dt & o, AD 9 Zol=?




£h& 179 AABC 14 BC $19] @ 3 Do tiste] AD = BD = OD
o uf, 24 9] 2718 Fspoier,




6.

oh2 Il A M2 A = 90° 1 AZHZHY ABC o "l
ZHolth /AMB : /AMC =5 :4 & ], zx o] 37]E 5ozt

@D 30° @ 40° A3 50° @ 60° B 70°



7. 2 1" AABCOIA A 1= Aot} /BAI=20°, /ACB =60°
Ao, /x2} zyo] 2717

A
202
I
607
B C
@ zx=120° sy =40° @ sx=115° Ly=45°
® /x=110°, sy =50° @ /x=125° Ly=35°

® /x=130° /y=130°



g I-IA A 17} 42E aABC S WAL W, x9) 278
Fatelet.



9. oS JFoA A 1+ AABC 9 Yot} AC 9] Zol=?




10. th& 2RIA A 1 aABC 9| HAlolch. BC o] 2ol

@D 6 Q 7 3 8 @ 9 3 10



11. o5 283 2ol AABC ] WA 15 #1443l ¥ BC of] B3t 2
1o ¥ AB, AC oF°] & 77} D,E 2 & o, AADE ©] =79
Zol=(  )em oJtt. ¥l 7te] Fore 58 ool

AL
=




12, o Z"™lA H I+ aABC 9 Hi4e]d, DE//BC & d, x 9

ol




13
. e
=3
WA 94 o]
Do ol %
15}

1_.0_.0
7_|

%O

X



14. o3 294 3 0 &1+ 217 AB = AC I o] SRS
o] QA3 YhAloltt, LABC = 72° & o, zx 9] 27]= °
Zrof| 5012 & oot

A



